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1.

t

The.flgures in the margin indicate
fult man,lcs Ior the questlons.

Answer ang .fiae questions out of serretr.

.

(a) Discuss in detail about TCP IIP protocol
i.' 

,.1 
iI

IP model. 5+5

(b) Describe the concept of Piconet and
6

?""tternet.
(c) Define intradomain and interdomain

routing. 4

Contd.



Tt'

2. (a) What do you mean by "Hidden and

;t

justify ? '

(c) What is ARP cache ?

Exposcd station Problems"
problems can be solved '?

domain name spaces ?

What is ARP ? What is its
How does it differ from

IP is unreliable,
connectionless Protocol.
answer.

? How these
4+6

4+4

2

4+4

functiclnality ?

RARP ? 6

best-effort,
Justify your

'6

(b) Distinguished between conncctipnless
. and connection oriented networks.

Which is reliable network connection

3. (A) [HI":::T;:TJff;:H#il
v

(b)

(c)

4. (a) ' Bxplain thc datagram format of
List out its commonaliti e s

differenccs with UDP Protocol.

TCP.

and
7+5

(b) What is DHCP ? How does it differ from

BOOTP ? 4+2
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'5. (a)

(c) To providc more subnets, a class

address is assigned the subnet mar

255.255.248.0. How many subnets are

possible ?

An organtzatton has a class C networki
I92.L68. 10. O and wants to form'{
subnets f* four dePartments A, B, C,

D with host requirments as follows '

72 Hosts

35 Hosts
a

20 Hosts

18 Hosts

Use variable length subnet markitg,
(VLSM) and subnet the network
according to requirement givcn abovc,

(b) What is the class of each of
following addresses ?

(t) 4.23.145.90

(it) .227 .34.78.7

(iit) 29 .6.8.4

(iu) 19 8.76.9.29

(u) 246.7.3.8

A:
B:
C=
D=

8

thc
5
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(e) What is the need
network ? How
performances ?

of Pro4y server in a
it improves network

4+3

6. (a) How does trTP work ? trxplain the
connection e stablishment procedure
between a client and a server in FTP.

5+4

Terminal
diagr.-;

(c) Explain the connection'establishment,
data ' transfer arid connection
termination process with TCP.

(a) Describe the following te rminologies
'\ /'.r.t., Domain

Name Space.

Root Server

Primary Server

Secondary Servr:r

(b) What is Network Virtual
(NVT) ? Explain with a neat

,7.

(t)

(it
(iil

(b) Explain the
explanation

(c) Write short

IPv4 datagram header with
of each field. 8

notes on : TELNBT.
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